2019F )| R a=T Vv —U—7 (B H k) — )

(A - B MR AT — 3 U—110¥ “uvrk
X7 ay Ikt F5IZOH
A= A B C D
g1o—rF—n| 1 = 2 TATE @ TA—FN—F=]| 4 ZRER)
gmov—kF—n| 5 H I 6 2 HT 7 DESAFIO MFCEfa
IR, @ ZREN) 10 B 5(C) 11 P 12 BREBFC
13 BEHK 14 B —(K) 15 FCE ¥ 16 TR
17 = USSEa 19 iR —(Y) 20 J& =5 (A)
21 Bt IR e A 22 AL 23 Fo X 24 EZlW
25 E 7y <F 26 K H 27 LAZO 28 SWAETH

W51 —FF—o % U-10: 18 4T —2)
DQZRFER) OT47EF @FT4—FAN—F= @ —H)
W20 —RF—L (B HU-10: 1E1F — L, 28 BA3F — L (T ey 7B =B H 5
OF)I] @QMFCEta @F R @DESAFIO
W TRy —RF—A
OREBQO):BEZIVR(H) @QZREA) :ZRFEFC/ IR () OFM B/ 70F @QBRBFCEAB (M)
K —RTF—LPET T RDT TRy — R B LTI E ROV ET 5,



